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I Responding to w™'s v
a  Response: m»y
i Prohibition lasts for 3 generations, men and women equal
ii ~ Challenge: my are clearly more severe, as they involve n13
iii Defense: 7mn lasts for multiple generations and treats men and women equally
iv. HCD: prohibitions and men and women treated equally
v Challenge: HCD is associated with n13 (7nn created by n13 »avn)
vi  Block: following »"ar3, a 99n can be generated by nwy »a»n (3% n%pa)
vii  Resolution: w"1 doesn’t accept »"ar"’s ruling
1 Language of mwm: w™ says » RY>he doesn’t accept »”ar1, and therefore the 1v'p stands;
(a) But: according to them (who accept »"ar1), he is citing tradition (na5n)
(b) In addition: the text supports his position — v. 1 - 071 (not n11)
I xn»are: dispute between w™ and N’ "3 (0'nan) about N xn nia
a  wM: o (v. 1- excludes nna)
b M 119 9WR — associated with birth (i.e. boys and girls)
i Ny 7 M 1 needed this reason to save his position:
1 he maintains 0> Ynp is a Ynp (> 1IN cannot marry 073),
2 -if n»¥n were 5npa namn, how could a pwrY M¥n ever get “purified”?
(a) Suggestion: Perhaps the reference is Tay712
(b) Rejection: the text doesn’t address post-facto situations
(c) Challenge: 7nn is the result of a Tap»71 situation
(d) Defense: the text will address Tay»72 if it prohibits, not to permit
(e) Challenge: w13 1Nn - where the text permits their children (v. 2 — 7732 89 hayn ®on)
(f) Defense: that is written for the essential Mmoo
OI w3 on M1 o (v. 1); Need for both:
i If only had b1 - ®8"10 3" son is permitted
ii  If only had m™7T - 8”10 count from »v, not from invidual convert
IV w111 on 1719 9wR and nnY (which teaches that we count from the convert and the illegitimate one defines the child)
a  Need for both:
i If only had v15v 7WR — 8”10 begin counting from the child — 9"np count from the convert
ii ~ If only had on% — 8”70 a pregnant n"1¥n who converts, her foetus is also a NWR 2N - H"np that he is a NY
b Need for both nn? (in our context) and 1% (in context of 1tn) teaching that the illegitimacy sticks
i If only written in our case — 8”10 not to apply to 9rnn, who comes from n7w2 nNaw
ii  If only written in case of 91N — 8”70 not to apply to 1R N, who have a 3-generation limit on 9109
Vv 9's ruling re: “mixed” generations: if a 2w »1¥n marries a NYWRY nxn, the child is a wHw
a  conclusion: it follows the father’s status
b challenge: 1970 "V's (rejected) ruling about “purifying” on depends on status following mother
¢ defense: that case is different, as per v. 3, since slaves don’t associate with the father
d  challenge: report of 181 73 (among ™ *1%N) who planned for his son to marry mw n»xn; why not nnywra?
i Answer: 3y "1 corrected reading of story so that even a nnywr1 would suffice
ii ~ Challenge: 370y "1 himself ruled that if a n1wR1 marries a 2, the child is a 2w (2 follows mother)
iii ~ Clarification: anv " ruled re: designating a pregnant animal for a nxon, if she gives birth, you may use either
1 - 92w must be independent > why would he have »xn follow mother?
2 Answer: text associates status with mother as per 11511 7R (otherwise, would follow father)
iv. Question: why does 130y "1 not require conversion for foetus whose mother converted?
v Answer: foetus’s natural place is the womb—>not a nx»¥n
VI v Y's ruling about status:
a national identity defined by father, as per v. 4
b  if they converted, follow least legitimate side; if »1¥n<->nMNy="1%n; NIXN<->MNY="11n0Y
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